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oel: Soetd 2 AHIA 2

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
X = Z M2t 9,600,295 20,238,373 210,638,078
= 48,067
= 14,000
= 1,060,071
Al 8,478,157
NSEZH o3t 4,159,975 4,285,542 A125,567
= 6,067
& 29,127
Al 4,124,781
SototsE & AL BS 102,115 107,142 AN5,027
= 6,067
= 9,627
Al 86,421
SIIeHE 2| Y AHIRES 76,310 86,129 29,819
101 Ql24y| 5,305 5,124 181
04 JI2tNI22NSE s 5,305 5,124 181
FE2II2LIE 12|
49, 12021 +32+32+ 1284 5,305
201 L2 3| 22,492 32,492 A10,000
01 At=22t2ld| 22,492 32,492 A10,000
SIIotY, AHIAES EE2 & S0 2,000
SItEAL AL MDD S5 5,292
HEOIA B2 14,000
AHIRER 9i15] 29
100,000 %1224 x13] 1,200
203 LRF&| 20,000 20,000 0
03 Al FERHRFEIH| 20,000 20,000 0
ZHEAIZ AIBHRFA 20,000
307 QI2H0| M 28,513 28,513
03 QIZHHHE2IHIEE 28,513 28,513
2HIXESHH 29 28,513
-AHIANESHE 29| 9,400
-AHIAIESHIE 14|
1,592, 740312013 19,113
SIIEAL LIEIRY 29(2X) 5,583 5,583 0
= 5,583
101 2124b| 5,583 5,583 0
& 5,583
04 JIZtHI2 2R EE S 5,583 5,583 0
& 2It=A BUIEH 2124d| 5,583
& 5,583
ZASOIAG A 45 AIH(EX) 20,222 15,430 4,792
= 6,067
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SA: XISZH D
M NREXCHY
tel: DEENEH (Ctol: M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 AF22t2|H] 8,000 8,000 0
AFRATHOH Ol NS - 82
2,500,0002%23] 5,000
CAIRIEEOIE 29 2,000
LA XRRAE 2H 1,000
301 LBtEA S 600 27,600 27,000
14 J|EtE A2 600 27,600 A27,000
OIS SaHatY FEATI2IANY WS 600
AT 2K HE 2 74,000 63,980 10,020
201 LB 70,400 60,380 10,020
01 Al22+2|H| 19,400 16,780 2,620
AT XIS HE 2 5,000
AT | APHOIE 29 1,000
UTI2IXIHE E2SE 4,000
SHOIX EotF o = 2,400
UTIRIHE AlAE X 22
200,000+ 12 2,400
AT XIAHE! EHOIX RASHEH
300,000 %12 3,600
AT XK HEZHOIX HIOI ABAl AR 1,000
02 229 6,000 6,600 AB00
AT XIME 222
100,000+ 12JH 1,200
AT XIAHE! RHEE2 L Sl
400,000 %1274 & 4,800
03 BAL2H 45,000 37,000 8,000
STy EIEI=C 30,000
5|Ycal Fum 15,000
202 OfH 3,600 3,600
NENCED 3,600 3,600
AT XIQHE] HREE 0] 3,600
HEAZAXIR (AIH]) AL X 228,000 228,000
201 LB 8,000 8,000 0
01 AlR2t2|H| 4,000 4,000
HESAXIALE 29 4,000
02 2229 4,000 4,000 0
HESAXIAME 2322 4,000
307 pIZt0IA 220,000 220,000
02 DIZFEAAIIE X 220,000 220,000 0
HUEEY XA 220,000
CHErA ZIRIE S| QIEi2d 80,000 80,000 0
307 PIZt0IA 80,000 80,000
02 DIZFEAAIIE X 80,000 80,000




SA: NS ZH
Hm: DREXOH
tel: DEENEH (Ctol: M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| Usrd MEHE 2| UE2d 80,000
NEH g LAl 52,000 184,970 /132,970
101 QI24H] 50,000 171,970 121,970
04 JI2HN22HSE+ 50,000 171,970 121,970
AsdgEE ATl (R0l Yt
ALEES) 50,000
201 28H=3| 2,000 13,000 211,000
01 At22tel] 2,000 13,000 211,000
sEd ZEE 2 IME 23| 2,000
S NHES LA 43,000 111,060 268,060
101 2124 35,000 88,250 A53,250
04 JI2HN22HSE+ 35,000 88,250 A53,250
STE ANHEE LACIAY 12| 35,000
201 Let23| 8,000 22,810 214,810
01 At2t2lH] 8,000 22,810 214,810
STE IHHEE LAY 28 8,000
MEX2 ALl 1,030,963 1,069,901 38,938
= 102,303
Al 928,660
SEIZAE 781,600 781,600 0
101 el21d| 768,000 768,000 0
04 JIZtH22 XS 2=+ 768,000 768,000
ZZOZAY 22X 0121b|
1,600,000 +60H+82 768,000
201 et23| 13,600 13,600
01 Al 22| 13,600 13,600 0
SEZZAE 22X WF 1,600
3SIZ2ZANY 2Y 12,000
NASSH LRI (EX) (D EAY) 157,390 196,737 A39,347
& 102,303
Al 55,087
101 QI124H] 154,390 190,282 A35,892
& 100,353
Al 54,037
04 JI2HN22HSE+ 154,390 190,282 A35,892
NS ESSHERSI AL 154,390
= 100,353
Al 54,037
206 XH=Hl 3,000 6,455 A3,455
= 1,950
Al 1,050
01 MZH 3,000 6,455 A3,455




2AM:

UL DN}

Hm: DREFOH
ool HEXR DFAXIRIAIY (creol: M2))
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
NS ESSHERSI AL 3,000
& 1,950
Al 1,050
S3EELe|AE 27,973 27,564 409
101 el21d| 27,973 27,564 409
04 JIZtH22 XS 2E= 27,973 27,564 409
SSEEL LI 2] 27,973
AZFEEH 08 LAel At 64,000 64,000 0
101 el21d| 64,000 64,000 0
04 JIZtH22 XS 2E= 64,000 64,000
AIRHEER] 014 2Rl Abed
1,600,00021%1024*42! 64,000
Ne==eg FEgitel At 20,000 408,512 A\388,512
= 10,000
& 3,000
Al 7,000
PNEE Satatd FFLRie] At 20,000 91,640 AT1,640
= 10,000
= 3,000
Al 7,000
301 Et2HS 20,000 0 20,000
= 10,000
= 3,000
Al 7,000
01 AlBI2E X3S (FLEXTHE) 20,000 0 20,000
DHIEE S BEATI2IA
QIMEIZ 20,000
= 10,000
= 3,000
Al 7,000
NEFHCHY 32,000 139,251 107,251
= 4,000
= 7,200
Al 20,800
INCIRS Pl feak =y 24,000 109,251 /85,251
& 6,000
Al 18,000
ARIED1Y =4 XIS 4,000 13,000 29,000
201 Let23| 4,000 5,000 21,000
01 Al 22| 4,000 5,000 21,000
ABIRZR KA BaLL
100,000 10 %13 1,000
ARIEEH W=, 82 Wil 2,000




2A: NS A
O DR
= ARIRDIESY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| ARSI HBMER 2HEHa 2F 1,000
A IHEH| K& 20,000 20,000 0
= 6,000
Al 14,000
307 212t01& 20,000 20,000 0
= 6,000
Al 14,000
02 RIHEAIAHE X 20,000 20,000 0
ASIEZMOIY AFEIHEH] K& 20,000
= 6,000
Al 14,000
OISJ1Y |4 8,000 30,000 A22,000
s 4,000
= 1,200
Al 2,800
0=01g8 S|4 8,000 30,000 22,000
s 4,000
= 1,200
Al 2,800
307 212t01& 8,000 30,000 A22,000
s 4,000
= 1,200
Al 2,800
02 RIHEAIAHE X 8,000 30,000 22,000
02018 SEAE 8,000
s 4,000
< 1,200
Al 2,800
s =sSX 512,500 10, 115,096 N9,602,596
= 11,650
Al 500,850
=401 X 512,500 10,115,096 29,602,596
= 11,650
Al 500,850
SUARI & JIHXN2ES 253,000 9,827,096 A9,574,006
201 EH2EH| 43,000 31,000 12,000
01 AtR2te|H] 36,000 31,000 5,000
JIP= XXX SOIHA IIESH 1,000
SHYUY - HetsZBHA 2
EE2E NH 10,0002*1, 000K 10,000
SHALLY - HRHSDEX| 2
2 MIE 5,0002I+2E+1, 0005 10,000
SHLEMACT] FRI2 15,000




2AM:

UL DN}

H: =AY 38N
chel: S0 X2 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 2229 7,000 0 7,000
IR 12 2egzel 7,000
202 Ot 10,000 10,000
ENGE 10,000 10,000
Il EXRX L XSS oYl 10,000
301 YEHEAS 130,000 150,000 A20,000
14 JIEF2 42 130,000 150,000 A20,000
22X 0l E=3 1,000,000 %80 80,000
HE22X FAS o= 1Y 50,000
307 2I2H0| & 60,000 60,000 0
02 QIFAAAIRIE R 60,000 60,000
ASERtEE 2 BAIIY JlEpe 60,000
308 XIXISHHISOIA 10,000 10,000
13 B 2SO HEI B AR R|E AL 10,000 10,000
A2EZI|2 HEMR 282 X 10,000
EAD|Y B8 U ALK 14,000 14,000 0
201 L2 A 4,000 4,000 0
01 AFR22IHI 4,000 4,000
S0l EEIY 100, 000 %20} 2,000
JIQXIY AL B0 HIE S
100, 0002 *20H 2,000
307 2I2H0| & 10,000 10,000
02 QIFAAAIIE R 10,000 10,000
242 Al Brs| &0t
2,000,000 *5H 10,000
KISXIAITHAH ZHEX| R ALY 50,000 50,000 0
308 XXIEHRISOIA 50,000 50,000 0
13 2SI HEH B A X R(EL A 50,000 50,000
YES KATHARR EHEAH 50,000
22X 25H0ISAL X2 25,000 25,000
307 2I2H0| & 25,000 25,000 0
04 QIZFSHAIAIRIE X 25,000 25,000
J|ed0l BHOISBHAL 25,000
ZLS ADIEZT REALY 40,500 42,000 21,500
308 XXIEHRISOIA 40,500 42,000 A1,500
13 2SO0 HEH B AR R(EL A 40,500 42,000 AT1,500
2005 ELE ANEDR REAY
13,500, 00024 <34 40,500
EAD|Q AYOHETIZEX OIKER 88,000 108,000 A20,000
307 212+0|& 88,000 108,000 A20,000
08 OIXIEXS 88,000 108,000 220,000
EAJ|Y A2 0IXEA
20,000,000 42| 80,000




2AM:
T ZH -
o /e

cH):

UL DN}
sa)Y =8k
S8 X2

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
22NHEYE & RIS
SLEZHEIZ OIXEH 8,000
vEAY 2T KA 42,000 42,000 0
= 11,650
Al 30,350
308 AHXIEHHISOIE 42,000 42,000 0
= 11,650
Al 30,350
13 SIS0 U etE 4 HAE ALY 42,000 42,000 0
VEAL QEXE
21,000,00021%27H71 2} 42,000
< 11,650
Al 30,350
AHEX e 2 2E 2,422,441 2,562,000 139,559
= 42,000
= 906,791
Al 1,473,650
AHHEA e 2 2,422,441 2,562,000 139,559
= 42,000
& 906,791
Al 1,473,650
SHEUBRAAET] e & 2l 118,000 208,000 280,000
201 Let23| 26,000 26,000 0
01 Al 22| 26,000 26,000 0
2EIIH=HEAIE TS BEZA =2 4,000
AEBESSHXCIAIE TS RA22ES 22,000
401 AIZHIZ 20| 92,000 182,000 80,000
01 Al&H] 92,000 182,000 80,000
HEZSHMEIAE TS 223 22,000
2FZSH=XAIE I FX2= 10,000
HES3H==XelAE EHE0ID]
(G LD\ b 50,000
AT LGAHEL] AEE R 10,000
ST H+S2XcIAlE €X 60,000 0 60,000
= 42,000
Al 18,000
401 AIZHIZL S0 60,000 0 60,000
= 42,000
Al 18,000
01 Al2H| 60,000 0 60,000
STLBAAER SSH=XCIAIE
HXIAFE (1-2EHH)) 60,000
= 42,000
Al 18,000




2AM:

NSRS}

M AMICH] X4 U 2
EHRlr MAET X 2el (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
LA EX ZEALS 779,141 200,000 579,141
& 114,141
Al 665,000
401 AIZHIZL S0 779,141 200,000 579,141
= 114,141
Al 665,000
01 Al&H] 779,141 200,000 579,141
FEN2s3HA 22SXME A= 629, 141
= 69, 141
Al 560,000
SHSSHA AR B 150,000
& 45,000
Al 105,000
SSHX =4 & UM (S3ER =218 N 565,300 325,000 240,300
d, & &8
= 282,650
Al 282,650
401 AlEHIL R 0HY] 565,300 320,000 245,300
= 282,650
Al 282,650
01 Al&H] 565,300 320,000 245,300
SH=s3HA == QH+22 &
QI=EH| 565,300
< 282,650
Al 282,650
STLBRAAET] ZEAI 122,000 130,000 28,000
201 Let23| 22,000 0 22,000
01 Al 22| 22,000 0 22,000
SHLBAHEX HIELLSEMZAIE
=A2els8y 22,000
401 AlZHIZL R 0HY| 100,000 130,000 30,000
01 Al&H] 100,000 130,000 30,000
STLPAH ] HEAHE BHE &
ey HE 60,000
STLBAAEA AIEES FXI2el 10,000
STLEAAER CCTV £X 30,000
STULBRUHEL] SSH=XCAIE 24 268,000 49,000 219,000
201 28t=Ed| 248,000 27,000 221,000
01 At22tel] 223,000 3,000 220,000
SHESSH=XCANE 2322 HHES 150,000
SHESHXCANE 2EEY HHES 30,000
SHSSH=XZIAIE H==Xcl2L
FEX IS 40,000




2AM:

NSRS}

M MO T8 U 2Y
Chel AYEX] =4 2| (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SHZSHANCIAE @olordae]
TN 3,000
02 B2 25,000 24,000 1,000
SHTTHSAIAE 2SIzl 25,000
206 el 10,000 0 10,000
01 Mzt 10,000 10,000
SHTTHSHLIAL = 10,000
401 NAHIL2CHE] 10,000 22,000 A12,000
01 AlZH 10,000 22,000 212,000
SHTTHSMlAE RX2% 10,000
SHYUBHIYE] 22=XME AF 510,000 300,000 210,000
< 510,000
401 NAHIL2CHE] 510,000 300,000 210,000
< 510,000
01 A& 510,000 300,000 210,000
SHUBHILER] ZEEXME AE 510,000
= 510,000
Suip 2 306, 681 307, 102 421
CHAIED AlS Suia pie] 306, 681 307, 102 A421
Sz flekae| 306, 681 307, 102 A421
308 AXIEHAISOIA 297,521 301,402 £3,881
13 2O ASUHS B A ERISASH] 297,521 301,402 £3,881
2ENESB=NB 2| 297,521
403 KX SHHISKH=0/ & 9,160 5,700 3,460
02 2| 2SO ChE RH=E RIS AL 9,160 5,700 3,460
DENESHENB H2X AL 9,160
R 81,480 81,480 0
=T 81,480 81,480 0
PR 81,480 81,480 0
201 2eteg| 52,220 52,220 0
01 AFR 22l 42,020 42,020 0
aBrg| 37,300
2zl 4,720
02 2322 10,200 10,200 0
ZZe2 ¥ MM 850,002+ 128 10,200
202 OfH| 18,960 18,960 0
01 =LhoiH 18,960 18,960
SN2Y YREX ol
1,580,0002 122 18,960
203 Y2 =] 10,300 10,300
01 D 2SI HREL| 5,500 5,500 0
ey gexa 5,500




2AM:

I WZEI3HI
£el: D=3l (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
04 ENE2EHR=LH 4,800 4,800 0
FA2E L2FA 400,0002 %12 4,800
MeEsS 546,000 500,000 46,000
LH=He XIS 546,000 500,000 46,000
IS8 HES 546,000 500,000 46,000
701 el HSHES 546,000 500,000 46,000
02 SVIHSEHBLEES 546,000 500,000 46,000
IeAgA dek 23 24 30,000
AHER Y01 et 23 28 480,000
SH ssHAl g:01Y olekeks 24 36,000
MeEs 2,655 0 2,655
SEXE 2,655 0 2,655
=&H| gtets 2,655 0 2,655
802 gtet=J|E 2,655 0 2,655
02 Al - EHIEXZEHE= 2,655 0 2,655
20223 AT 04 HEAI 2,655




